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General Instructions to Candidates:

Thereis a *Cool offtime” of 15 minutes in addition to the writing time.

Use the ‘Cool offtime’ to get familiar with questions and to plan vour answers,

Readthe hsirntztionscareﬁgllly

Read questions carefully before answering

Calculations, figures and graphs should be shown in the answer sheet itself.

Malavalam version of the questions is also provided.

Give equations wherever necessary.

}]::,;]é]vu'mic devices except non-programmable calculators are not allowed in the examination j
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SECTION-A

O mymad 7 cuso Agle)d Salialsmod sajn EDONDY)

(Answer all questions from 1 to 7. Each carries . ssowedme e cbeacl)

1score) (Tx1=T)

L.

Which school of thought in geography emplovs
Maruaan thoughts to explain social problems?

Name the popular geographical approach in

1 oodjan)lalimameg alwslaa]lsassd

aoda nvlend aflhaéed @aiswanleaiom
gdlmamiimaliomowon agait

2 1990- @gleel (ardlenoso eydlubomsen
1990 ADOWOETOS BalODPY ).
3. Which amongthe following methods isadopted 3 ajaes cudowlsjggawilcd mom)olod

to calculate population density in India?
(a) female p_-_:-gu]_ation %1000
male population

k) male population
female population

¢) _female population

x 1000

M L Tal} @ ] 0 M jaldMe & eMEDoBH 08
palemoleaymal Rl olalomosmie.
(o) ML) BOAVOAN 100
alj@lal ROMDoay
{anl) aUj@]eed SRINArDoGLY, x 1000
i ML)

male population X 1K (o) oS mmavealy 440
d) male population il & o
x 100

female population

(cudl) alojest @@OIV0RY 04
oniyanl enaroealy
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13.

14.
15.

| 16.

10.

11.
12.

Name the oldest approach to calculate human
development

AMa S TMo &SN ED0E0 ;T
DlEDOEkENTN afQale APt CudTimo @it

Which among the following isan examplefora s ajues cudowlg)pgouwlol awy=iel

medieval town? PV e R el e T

a. Madurai b. Jaipur ). DD enil ®mTald

c. Kolkata d. Varanasi . O 0TSTRD il annsmomil

The working age group is .......... & omorlangl nhoallzone gt

a. 18-55 b. 15-59 a. 18-35 b. 15-59

c. 25-60 d 18-59 ¢. 25-60 d. 18-59

Alarge area of urban development resulting from. & PSITRES alSAMEEOED DODEEHZW 0

merging of adjacent towns or cities is termed as ;glea|0om oo sg alodmymaow

M@k EDEIRKIMT......

a. Millioncity  b. Megalopolis oy dlaiyaieig] sl oBOAsENEAIETS

c. Conurbation  d. Metrocity (7x1=T) il easemdoaiasd ool eeesomig
SECTION-B

(Answer any 6 from questions 8-15 Each
carries 2 Scores)

Prepare a note on environmental determimsm

Give a briefnote on Crude Birth Rate

(8 @™ 15 WD Cald3LFWRIN agameslens 6

APPHIRIT DWDIDDE Wik, AICHIMIM 2
M cand)
& apeloreclolasauiallei s roaTmandla] B

1Tl P 1M

2 (@0l Rmmmile s alkoaaoen @
Define theterm literacy in Indian context. MADLAF TUIanalD y TICE  TuoSM DM S
lap i Tp TENIEC AT Y

What is human poverty index? N a3 amyasaonls)y Tupalsy
What do vou mean bv push factors of 12 @slenommleal MdauTulm felssemd
muigration? AT B IS MO 80 Mmam ¢
Write the main arcas where the Christian B @m.:u;t;lm: (SISm0l ROD B8l 000
population of India are concentrated 0 (B1HDNISIBE (ICIOFHA ABOMEII0T

ol ) . M. (B0l BOAMId ]S mman;ala] an)
Write a note on the Dravidan language famuly, e Ty
Distinguish between main workers and B (wom emowlengle@ie MOAQI(Em
Marginal Workers. Smorlengleplo MITIENBR QULMLOTLAHITY

SECTION-C

(Answer any six from Questions 16-24.
Each carries 3 scores) (6x3=18)

Urban historians and give examples.

(16 mymsd 24 o cadalaEnglod .gem@la)e &
A RERIM AW AWM, BIGRIMIMe 3 T ek
alma)

Classify Indian towns as per the standards of %6 ®OaEKGSIDMDIOOS BINBEMUNAIRIDO

@yl algememeg meodmEla]
DEOANDETHETSZP )T dh.
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7. Write about the 4 streams of migration in India.

& Give a brief account of the expanding and
declining population pyramids with suitable
examples.

9. Compare the Income approach and Basic needs
approach to human developrent,

0. Distinguish between Wet point and Drypoint
settlements,

1. Briefly explain the demographic transition model

12, What are the aims of the National Youth policy
20037

23. Explain the approach in geography which is
popularly known as ‘stop and go determinism’

24, What did Thomas Malthus predicted on
population growth?

Answer any 3 from questions 25 to 18.
Fach carries 4 Scores) Ixd =12

25. Name the four pillars of human development
and explain any two.

26. Listthe ditferem tvpes of rural settlements in
India. Explain any two.

27. Write the problems of urban settements.

28, Write the functional classification of towns in
India and explain any one.

7. @OmyEIHEel 4hda &) SIEOnoaITaE
) tla] )@,

13 fleOles ) Mo &) I DO
BMTUcEL) IS alealn ez
@RI ITFORLEOD PEINNGEMERU dUadlihe
UMD .

19 MMM dalenten Mm@k aa
AUDIBIT TSI ARElrundm
AU LTUEINHTRTD jo MIVMBLe SHalljish

20 oaud el anrurunelFng)e
SEOLEAITIG UITOTENEETIS 0 CenlE) B8
UL IO ST o,

1 mmrueeld al@lud@mDn BomLe
T[T Ta

22 2003 -9l GAANT WIRMmOOREHTg
@yE) el ST aSImonEat

23 eqyoqf meaf e ellgddlmioe’ afmd
SalomE  GROIDeSIIM &@lunsmim
allkmaon AknREIEN ).

4. BRONTUOELLD B30 roosrnWla) Simoaas

DOTTETY (ol afnanati?

Section I

{25 mymm % waa
APARAERI AR IR D e #ICITWIW 4 aead alma)

cappasmalsh  agamalape 3

25 @M)nk} e rommailn adlrderueinsd o moel
A @S Fal@De)Mmdh. afjehiElals
maaTEae AUlBnIE

® peymies olaflwase (@ 2alam oo
monplsmyd ey fal@lide agemBlalio
dadTde ATl

27, M@ USIOTINEIGERR 8 S Ladud mems ol

e e

28 @A WIHel AISTMEIRg @Rl Mldaadlkenom
whamaien meslTonsmouicd @oodiil]
ARemEsIEe aoTlnmeEnTla] lnaaisan .
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{Answer any 1 from questions 29 to 30 Carries

(28 - 30 man  eaooyeealsl  asoapmmlod
ATNIDAE) W] eh, & TUES0D)

& Scores) 1x6=6
29 Explain the phases of population growth in 28 @aywles BOAUeays WSAYTOS
- alafangigamed  aloueled )
India.
) ) ) 30, seloaamleel wonlemosrumenalane s
30, Explamn the pattems of rural settlements of the ARUTOS oy mlesmrealal @eedlala]
world on the basis of their forms or shapes. Al o
Section F
31, Identify and mark the following on the outhine 3 ayues omoslnlgiasy o)y ol
map of India provided. meAs1olges DO @es fpuleoawlsd
TRV BEYS) T
4. Anancient town in South India Ay aeslzanan, Dlnel §0) aldomnalgeme
b. The state with highest score in human il @ wIeel A gRAM amjay
development in India. afl:Tomaag Momunome
¢, Thestate with highest population in India il apganedlee BNV BE RV
TGO
d. The state with highest concentration of sikh

o

odl. a0l afgaiawléc miled

population in India. amallesrilag)Be Toeundme
. The State with the highest urban @ aQAEWlee MONGERMTIOAIL B
population, DL MemMInMe

(5x1=5)
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